13000 GeV pp tt
I I I |

';' _| I I I | I I I | I I I |_ 9
® - tthar . . 5
o P~ (ATLAS semileptonic ttbar) >
=107 E- ! s
£ — - 2
T L 1%
Bd— B 7] 8
2107 o
@] = =
S F g
b - 1
—i
10_3 E_ _E
[ ] —
B —™
B &
10 £ —Eé
~ m  ATLAS = E
~  --0-- Pythia 6.428 345 1%
—A— Pythia 6.428 370 p
10 & - i
= Pythia 6.428 ambtl = c
~  ——— Pythia 6.428 22 18
— )
- 1o
o
(&)
0°g oy ey eE
2 —2
%) n 3
< o .
— | —
|_
< - B
e 1 1
g LA :
m I p—
05 — —0.5
| 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
0 200 400 600 800



	Contents
	Page 1


